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Curriculum Outcome

A1 Solve problems that require the manipulation
and application of formulas related to: perlme!er,
area, vol K , the P Y hag b
primary trig tric ratlos, currency

t i t and fi harges.

G2 Demonstrate an understanding of the
Pythagorean theorem by: identifying situations that
involve right triangles, verifying the formula, applying
the formula, solving problems.

G3 Demonstrate an understanding of primary
trigonometric ratios (sine, cosine, tangent) by:
applying similarity to right triangles, generalizing
patterns from similar right triangles, applying the
primary trigonometric ratios, and solving problems.

Student Friendly:

Homework

Worksheet #3 - Trig Find Theta
S ( Trigonometry - Finding Theta (

44 For each of the following,
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For each triangle
« Decide on which trigonometric ratio you will use to find the missing angle.
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Find the value of <A in each triangle.
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‘When given the angle you can also find the trig ratio. For example,
lets say we wanted to know what the value was for the sine of a 35

degree angle.

Sin35°=? 0.573b

Enter 35 into your calculator and press the sin key. You find that

the answer is 0.5736
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(a) ®

Try these:

Cosa =0.8746

a) Tano =235350
0 =ws™(vo31y

‘ b
© = ta! (1.3589)

o =67° o=29°

Find each of the following values using your calculator. Round to 4 decimal places.

e) cos 88> =0. 0349

f) tan 880 = 23 . 6362
g) sin 900 = |

h) cos 900 = O

i) tan 900 = ervoy l

Xﬁ? 8

a0

a) 51n20:m
b) cos 35 = 0.F 142
c) tan 35 = 0,100

d) sin 88 —o. 1Y
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Homework
Worksheet
kY
Calculate the unknown: —-—®
a) sin x=0.9336 b) cos 35= x . ,.;a....u.emn:).e‘:tom..m. THEN calculate the angle
X =sin(o 4336) X=0.3la2

X=69"

=
d) cosg=0.6182- i‘] A
g= cos'(0-0l 720

c) tan 25o=x

X=04663

9 = 620 ~F \V )
e)tan f =57
1) cos X
ez
Ms oPP
ot e ¥
My :
Cos & - =
h
Cos® = Yo

cose = 0O.1*506
e = cos (0-9156)

(o-= 12° )



Attachments

Q  Math 10B - Trigometric Ratio.ia1
Q  TrigTable WS 2.docx
Q  TrigTheta WS 3.docx
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A Refer to the table of trigonometric values or use a calculator. Express

w

N

«

<

angles to the nearest degree.

Find the value of each trigonometric ratio.

(a) cos 42° (b) sin 36° (c) cos24° (d) tan 76° () sin 58°
(0 tan36° (g sin12°  (h) cos48° () tan18°  (j) tan 5B°
‘Which is greater in value?

(a) sin 36° or cos 36° (b) cos72°orsin72°  (c) sin 86° or tan 86°
(a) Use a calculator. Find the sine of 15°, 20°, 37°, 42°, 71° and 86°.
(b) Round your answers in (a) to 4 decimal places. Compare your answers
to those in the trigonometric tables.

(a) Use a calculator. Find the cosine of 9°, 12°, 27°, 39°, 45°, 63° and 72°.
(b) Round your answers in (a) to 4 decimal places. Compare your answers
to those in the trigonometric tables.

(a) Find sin A for these angles: £ A = 17°, 27°, 36°, 45°, 53°, 69°.

(b) How do the values of sin A change as £ A increases?

(a) Find cos A for these angles: £ A = 15°, 20°, 35°, 45°, 60°, 72°.

(b) How do the values of cos A change as £ A increases?

(a) Find tan A for these angles: £ A = §°, 23°, 35", 49°, 61°, 76°.

(b) How do the values of tan A change as £ A increases?

Refer to the tables, or use a calculator. Find cach angle.

(8) sin A = 0.7193 (b) cos P = 0.5150 (©) tan Q = 0.7265
(d) cos U = 0.8090 (¢) sin B = 07986 (0 tan R = 29042

‘When necessary, express angles o the nearest degree and lengths to
1 decimal place.

Find the measures of 2 P and £ Q in each of the following.
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#.  For each triangle B
« Decide on which trigonometric ratio you will use to find the missing angle.

o Find the missing side.
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